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Please consult the Grand Unified Theory of Classical Physics by Dr. Randell L. Mills. This file corresponds to the

Generation of the Orbitsphere CVFS section of Chapter 1.

Initialization Cells

Generation of the Basis Element CVF

Clear@θD
Equ84 = zrotA π
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ComponentFunct@Equ84, 80, R Cos@φD, −R Sin@φD<, 8Red, Thickness@0.006D<, BlueD;
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Figure5 =

Show@Array@p, 60D, ViewPoint → 80, 0, 2<, Axes → True, AxesLabel → 8x, y, z<,
ViewVertical → 8−1, 0, 0<, DisplayFunction → $DisplayFunctionD;
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Clear@θD
ComponentFunct@Equ84, 8R Cos@φD, 0, −R Sin@φD<, 8Red, Thickness@0.006D<, BlueD;

Figure6 =

Show@Array@p, 60D, ViewPoint → 80, 0, 2<, Axes → True, AxesLabel → 8x, y, z<,
ViewVertical → 8−1, 0, 0<, DisplayFunction → $DisplayFunctionD;
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Clear@θD
ArrowComponentFunct@Equ84, 8R Cos@φD, 0, −R Sin@φD<,

80, 1 R, 1 R<, 80, −1 R, 1 R<, 8Red, Thickness@0.006D<, BlueD;
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Figure7 = Show@Array@p, StepsD,
Array@arrows, StepsD,
ViewPoint → 80, 0, 2<, ViewVertical → 8−1, 0, 0<,
Axes → True, AxesLabel → 8x, y, z<, DisplayFunction → $DisplayFunction,

PlotRange → 88−1.4, 1.4<, 8−1.4, 1.4<, 8−1.4, 1.4<<D;
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Generation of the Orbitsphere CVF

Clear@θD
Equ95 = FullSimplifyAzrotA π
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E.yrotA π
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E.zrot@θD.yrotA −π
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EE;
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Clear@θD
ComponentFunctAEqu95,
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Cos@φD, −R Sin@φD=, 8Red, Thickness@0.006D<, BlueE;
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Figure9 =

Show@Array@p, 60D, ViewPoint → 80, 0, 2<, Axes → True, AxesLabel → 8x, y, z<,
ViewVertical → 8−1, 0, 0<, DisplayFunction → $DisplayFunctionD;
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Clear@θD
ComponentFunct@Equ95, 8Cos@φD, Sin@φD, 0<, 8Red, Thickness@0.006D<, BlueD;

Figure10 =

Show@Array@p, 60D, ViewPoint → 80, 0, 2<, Axes → True, AxesLabel → 8x, y, z<,
ViewVertical → 8−1, 0, 0<, DisplayFunction → $DisplayFunctionD;
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Clear@θD
ArrowComponentFunct@Equ95, 8Cos@φD, Sin@φD, 0<,

80, 1 R, 1 R<, 80, −1 R, 1 R<, 8Red, Thickness@0.006D<, BlueD;
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Figure11 = Show@Array@p, StepsD,
Array@arrows, StepsD,
ViewPoint → 80, 0, 2<, ViewVertical → 8−1, 0, 0<,
Axes → True, AxesLabel → 8x, y, z<, DisplayFunction → $DisplayFunction,

PlotRange → 88−1.4, 1.4<, 8−1.4, 1.4<, 8−1.4, 1.4<<D;
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Generation of Y0
0Hf, qL

Clear@MD

θ := m 
2 π
���������
M

;
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Change theta to gamma in Equ 84:

Clear@NND

γ := −n 
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;
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Equ103 = FullSimplify@Equ95.Equ84BD
MatrixForm@%D
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Clear@M, NND
ConvolutionFunct@Equ103, 80, R Cos@φD, −R Sin@φD<, 8Blue<, BlueD;

Orbitsphere_072909.nb 6

Printed by Mathematica for Students



Figure12 = Show@Array@Component, 8Sets<D, ViewPoint → 80, 0, 2<,
ViewVertical → 8−1, 0, 0<, Axes → True, AxesLabel → 8x, y, z<,
PlotRange → 88−1, 1<, 8−1, 1<, 8−1, 1<<, DisplayFunction → $DisplayFunctionD;
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ArrowConvolutionFunctClock@Equ103,
80, R Cos@φD, R Sin@φD<, 80, .8 R, .8 R<, 80, −.8 R, .8 R<, Blue, BlueD;

Figure11Arrows = Show@Array@Component, 812<DD;
Figure13 = ShowAFigure12, Figure11Arrows,
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zzzzz 2, −H1L 2=, Axes → True,

AxesLabel → 8x, y, z<, PlotRange → 88−1.3, 1.3<, 8−1.3, 1.3<, 8−1.3, 1.3<<,
DisplayFunction → $DisplayFunction, Lighting → FalseE;
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Clear@θD
Equ104 = zrot@θD.yrotA −π
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ComponentFunct@Equ104, 8R Cos@φD, R Sin@φD, 0<, 8Red, Thickness@0.006D<, BlueD;
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Figure14 =

Show@Array@p, 60D, ViewPoint → 80, 0, 2<, Axes → True, AxesLabel → 8x, y, z<,
ViewVertical → 8−1, 0, 0<, DisplayFunction → $DisplayFunctionD;
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Clear@θD
Equ106 = FullSimplifyAzrotA π
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ComponentFunct@Equ106, 8R Cos@φD, R Sin@φD, 0<, 8Red, Thickness@0.006D<, BlueD;
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Figure15 =

Show@Array@p, 60D, ViewPoint → 80, 0, 2<, Axes → True, AxesLabel → 8x, y, z<,
ViewVertical → 8−1, 0, 0<, DisplayFunction → $DisplayFunctionD;
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Clear@MD

θ := m 
2 π
���������
M

;
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Change theta to gamma in Equ 106:

Clear@NND

γ := n 
2 π
���������
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;
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;
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Equ109 = FullSimplify@Equ95.Equ106BD
MatrixForm@%D
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M

D +
è!!!!2 Sin@ 2 m π���������

M
DM Sin@ 2 n π���������

NN
D

���������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
2 è!!!!2 ,

1
����
4

J2 SinA n π
���������
NN

E2 +è!!!!2 SinA 2 m π
�������������
M

E J−1 − CosA 2 n π
�������������
NN

E + SinA 2 n π
�������������
NN

EN −

CosA 2 m π
�������������
M

E J1 + CosA 2 n π
�������������
NN

E + 2 SinA 2 n π
�������������
NN

ENN=,

9 1
����
2

J−è!!!!2 CosA m π
���������
M

E2 −è!!!!2 CosA 2 n π
�������������
NN

E SinA m π
���������
M

E2 − SinA 2 m π
�������������
M

E SinA 2 n π
�������������
NN

EN,
Cos@ 2 n π���������

NN
D Sin@ 2 m π���������

M
D

�����������������������������������������������������è!!!!2 − SinA m π
���������
M

E2 SinA 2 n π
�������������
NN

E,

1
����
2

Jè!!!!
2 CosA m π

���������
M

E2 −è!!!!
2 CosA 2 n π

�������������
NN

E SinA m π
���������
M

E2 − SinA 2 m π
�������������
M

E SinA 2 n π
�������������
NN

EN==

i

k

jjjjjjjjjjjjjjjjjj

1����
4
I1 + Cos@ 2 n π���������

NN
D + Cos@ 2 m π���������

M
D H−1 + Cos@ 2 n π���������

NN
D − 2 Sin@ 2 n π���������

NN
DL −

è!!!!2 Sin@ 2 m π���������
M

D H−1 + Cos@ 2 n π��������
NN

1����
4

I−2 Cos@ n π������
NN

D2 +è!!!!2 Sin@ 2 m π���������
M

D H1 − Cos@ 2 n π���������
NN

D + Sin@ 2 n π���������
NN

DL − Cos@ 2 m π���������
M

D H−1 + Cos@ 2 n π���������
NN

D
1����
2

I−è!!!!2 Cos@ m π������
M

D2 −è!!!!2 Cos@ 2 n π���������
NN

D Sin@ m π������
M

D2 − Sin@ 2 m π���������
M

D Sin@ 2 n π���������
NN

DM

ConvolutionFunct@Equ109, 8R Cos@φD, R Sin@φD, 0<, 8Red, Thickness@0.006D<, BlueD;
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Figure16 = Show@Array@Component, 812<D, Axes → True,

AxesLabel → 8x, y, z<, ViewPoint → 80, 0, 2<, ViewVertical → 8−1, 0, 0<,
PlotRange → 88−1, 1<, 8−1, 1<, 8−1, 1<<, DisplayFunction → $DisplayFunctionD;
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ArrowConvolutionFunctClock@Equ109, 8R Cos@φD, R Sin@φD, 0<,
80, .8 R, .8 R<, 80, −.8 R, .8 R<, 8Red, Thickness@0.006D<, BlueD;

Figure17 = ShowAFigure16, Array@Component, 812<D,

ViewPoint → 9
i
k
jjjjj−

1
����������è!!!!
2

y
{
zzzzz 2,

i
k
jjjjj

1
����������è!!!!
2

y
{
zzzzz 2, H1L 2=, Axes → True, AxesLabel → 8x, y, z<,

PlotRange → 88−1.3, 1.3<, 8−1.3, 1.3<, 8−1.3, 1.3<<, ViewVertical → 8−1, 0, 0<,
DisplayFunction → $DisplayFunction, Lighting → FalseE;
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Figure17Arrows = ShowAArray@Component, 812<D,

ViewPoint → 9
i
k
jjjjj−

1
����������è!!!!
2

y
{
zzzzz 2,

i
k
jjjjj

1
����������è!!!!
2

y
{
zzzzz 2, H1L 2=, Axes → True,

AxesLabel → 8x, y, z<, PlotRange → 88−1.3, 1.3<, 8−1.3, 1.3<, 8−1.3, 1.3<<,
ViewVertical → 8−1, 0, 0<, DisplayFunction → Identity, Lighting → FalseE;

SolidSphere = Show@Graphics3D@8GrayLevel@0.5D, EdgeForm@D, Sphere@.9D<D,
Lighting → False, DisplayFunction → IdentityD;
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Figure22 = ShowASolidSphere, Figure17Arrows, DisplayFunction → $DisplayFunction,

ViewPoint → 9−
i
k
jjjjj

1
����������è!!!!
2

y
{
zzzzz 2,

i
k
jjjjj

1
����������è!!!!
2

y
{
zzzzz 2, H1L 2=, Boxed → FalseE;
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